GLASNIK MATEMATIČKI Vol. 39(59)(2004), 289 – 301

OSCILLATION OF HIGHER ORDER DIFFERENCE EQUATIONS VIA COMPARISON

RAVI P. AGARWAL¹, SAID R. GRACE² AND DONAL O'REGAN³ Florida Institute of Technology, USA, Cairo University, Egypt and National University of Ireland, Ireland

ABSTRACT. In this paper we shall present some new oscillation criteria for difference equations of the form

 $\Delta^m x(n) + q(n)f(x[n-\tau]) = 0$

and

 $\Delta^m x(n) = q(t)f(x[n-\tau]) + p(n)F(x[n+\sigma])$

via comparison with some difference equations of lower order whose oscillatory behavior are known.

1. INTRODUCTION

In this paper we are concerned with the oscillatory behavior of solutions of higher order difference equations

(1.1)
$$\Delta^m x(n) + q(n)f(x[n-\tau]) = 0$$

and

(1.2)
$$\Delta^m x(n) = q(n)f(x[n-\tau]) + p(n)F(x[n+\sigma]),$$

where $m \geq 2, \Delta$ is the forward difference operator defined as follows:

$$\Delta^{0} x(n) = x(n), \quad \Delta^{m} x(n) = \sum_{j=0}^{m} (-1)^{m-j} \binom{m}{j} x(n+j), \quad m \ge 1.$$

Further, in what follows it is assumed that

(i) $p, q : \mathbb{N}(n_0) = \{n_0, n_0 + 1, \dots\} \to \mathbb{R}^+ = (0, \infty) \text{ for some } n_0 \in \mathbb{N} = \{0, 1, \dots\},$ (ii) $\tau \text{ and } \sigma \ge 0,$

Key words and phrases. Oscillation, nonoscillation, difference, nonlinear, comparison.

²⁰⁰⁰ Mathematics Subject Classification. 39A10.

(iii) $f, F : \mathbb{R} = (-\infty, \infty) \to \mathbb{R}$ are continuous functions satisfying xf(x) > 0 and xF(x) > 0 for $x \neq 0$ and both f and F are nondecreasing.

For $r \in \mathbb{R}$ and s a nonnegative integer, the factorial expression is defined as

$$(r)^{(s)} = \prod_{i=0}^{s-1} (r-i)$$
 with $(r)^{(0)} = 1$.

By a solution of equation (1.1) (or (1.2)), we mean a nontrivial sequence $\{x(n)\}$ satisfying equation (1.1) (or (1.2)) respectively for all $n \in \mathbb{N}(n_0)$, where n_0 is some nonnegative integer. A solution $\{x(n)\}$ is said to be oscillatory if it is neither eventually positive nor eventually negative and it is nonoscillatory otherwise. An equation is said to be oscillatory if all its solutions are oscillatory.

In recent years, the oscillation of equations (1.1) and (1.2) when $m \ge 1$ has been studied extensively. For recent contributions, we refer the reader to the monographs of Agarwal et. al. [1,2,6] and Györi et. al. [8], also the papers [4,5,7,9-11] and the references cited therein.

The purpose of this paper is to study the oscillatory behavior of all solutions of equations (1.1) and (1.2). The main results are new and independent of the analogous ones known for difference equations (see, for example, [1,2,4-7,10,11] and the references contained therein).

To obtain our results we need the following lemmas in which the first is the discrete analog of the well–known Kiguradze's lemma.

LEMMA 1.1. Let x(n) be defined on $\mathbb{N}(n_0), x(n) > 0$ and $\Delta^m x(n)$ be eventually of one sign on $\mathbb{N}(n_0)$. Then there exist an integer ℓ and $n_1 \in \mathbb{N}(n_0), 0 \leq \ell \leq m$ with $m + \ell$ odd for $\Delta^m x(n) \leq 0$ eventually, or $m + \ell$ even for $\Delta^m x(n) \geq 0$ eventually such that (1.3)

 $\begin{cases} \ell \leq m-1 \text{ implies } (-1)^{\ell+k} \Delta^k x(n) > 0 \text{ for all } n \in \mathbb{N}(n_1), \ \ell \leq k \leq m-1 \\ \ell \geq 1 \text{ implies } \Delta^k x(n) > 0 \text{ for all } n \in \mathbb{N}(n_1), \ 1 \leq k \leq \ell-1. \end{cases}$

LEMMA 1.2. Let q, τ and f be as in (i), (ii) and (iii) respectively. If the inequality

(1.4)
$$\left\{\Delta^2 x(n) + q(n)f(x[n-\tau])\right\} \operatorname{sgn} x[n-\tau] \le 0$$

has a nonoscillatory solution, then so does the equation

(1.5)
$$\Delta^2 x(n) + q(n)f(x[n-\tau]) = 0$$

LEMMA 1.3. Let (i) - (iii) hold. If the inequality

(1.6)
$$\left\{\Delta x(n) + q(n)f(x[n-\tau])\right\} \operatorname{sgn} x[n-\tau] \le 0$$

has a nonoscillatory solution, then so does the equation

(1.7)
$$\Delta x(n) + q(n)f(x[n-\tau]) = 0.$$

Also, if the inequality

(1.8)
$$\{\Delta x(n) - p(n)F(x[n+\sigma])\} \operatorname{sgn} x[n+\sigma] \ge 0$$

has a nonoscillatory solution, then so does the equation

$$\Delta x(n) - p(n)F(x[n+\sigma]) = 0.$$

The proof of Lemmas 1.2 and 1.3 may be found in [6,8,10]. Also, these are discrete analog of the results established in [3].

We shall assume that

(1.9)
$$-f(-xy) \ge f(xy) \ge f(x)f(y) \quad \text{for} \quad xy > 0,$$

(1.10)
$$-F(-xy) \ge F(xy) \ge F(x)F(y) \quad \text{for} \quad xy > 0$$

and

(1.11)
$$\sum_{n=0}^{\infty} (n-\tau)^{(m-j)} f\left((n-\tau)^{(j-1)}\right) q(n) = \infty, \quad j = 1, 2, \cdots, m.$$

For simplicity, we put for all sufficiently large n,

$$\begin{split} Q_{j}(n) &= \sum_{r=n}^{\infty} \frac{(r-n+m-j-2)^{(m-j-2)}}{(m-j-2)!} q(r) f\left(\frac{(r-\tau-m+j-1)^{(j-1)}}{j!}\right), \\ &j = 1, 2, \cdots, m-2, \end{split} \\ Q_{m-1}(n) &= q(n) f\left(\frac{(n-\tau-2)^{(m-2)}}{(m-1)!}\right), \\ Q_{0}(n) &= q(n) f\left(\sum_{r=n-\tau}^{n-\tau} \frac{(r-n+\tau+m-2)^{(m-2)}}{(m-2)!}\right), \\ &\text{for some} \quad \overline{\tau} > 0 \quad \text{with} \quad \tau > \overline{\tau}, \end{aligned} \\ \hline \overline{Q}_{j}(n) &= \sum_{r=n_{1}+\tau}^{n} \frac{(r-n_{1}+m-j-1)^{(m-j-1)}}{(m-j-1)!} q(n) \\ & f\left(\frac{(r-\tau-m+j-1)^{(m-j-1)}}{j!}\right), \\ &j = 1, 2, \cdots, m-1 \quad \text{and some} \quad n_{1} \ge n_{0}, \end{aligned} \\ Q_{j}^{*}(n) &= \sum_{r=n}^{\infty} \frac{(r-n+m-\ell-1)^{(m-\ell-1)}}{(m-\ell-1)!} q(r) f\left(\frac{(r-\tau-m+\ell-1)^{(\ell-1)}}{\ell!}\right), \\ &j = 1, 2, \cdots, m-1, \end{aligned}$$

R.P. AGARWAL, S.R. GRACE AND D. O'REGAN

2. Oscillation of Equation (1.1)

In this section we shall present some oscillation results for equation (1.1).

THEOREM 2.1. Let m be even, conditions (i) - (iii), (1.9) and (1.11) hold. If for sufficiently large n all second order difference equations

(2.1; j)
$$\Delta^2 z(n) + Q_j(n) f(z[n-\tau]) = 0, \quad j = 1, 3, \cdots, m-1$$

are oscillatory, then equation (1.1) is oscillatory.

THEOREM 2.2. Let m be odd, conditions (i) - (iii), (1.9) and (1.11) hold. If for all sufficiently large n all second order difference equations $(2.1; j), j = 2, 4, \cdots, m-1$ are oscillatory, then every solution $\{x(n)\}$ of equation (1.1) is either oscillatory, or $\lim_{n\to\infty} \Delta^i x(n) = 0$ monotonically for $i = 0, 1, \cdots, m-1$. In addition, if there exists a positive integer $\overline{\tau}$ with $\overline{\tau} < \tau$ such that the first order difference equation

(2.2)
$$\Delta u(n) + Q_0(n)f(u[n-\overline{\tau}]) = 0$$

is oscillatory, then equation (1.1) is oscillatory.

PROOFS OF THEOREMS 2.1 AND 2.2. Assume that equation (1.1) has a nonoscillatory solution $\{x(n)\}$, say, x(n) > 0 for $n \ge n_0 \ge 0$. By Lemma 1.1, x(n) satisfies (1.3) for some $\ell \in \{0, 1, 2, \dots, m-1\}$ with $\ell + m$ odd for $n \ge n_1$, for some $n_1 \ge n_0$.

From the discrete Taylor's formula, it follows that x satisfies the equality

(2.3)
$$\Delta^{\ell} x(n) = \sum_{j=\ell}^{k-1} \frac{(s-n+j-\ell-1)^{(j-\ell)}}{(j-\ell)!} (-1)^{j-\ell} \Delta^{j} x(s) + (-1)^{k-\ell} \sum_{r=n}^{s-1} \frac{(r-n+k-\ell-1)^{(k-\ell-1)}}{(k-\ell-1)!} \Delta^{k} x(r)$$

for $s \geq n \geq n_1, 0 \leq \ell \leq m-1$ and $0 \leq k \leq m.$ Now, we consider the following three cases:

(I) $\ell \in \{1, 2, \cdots, m-2\},$ (II) $\ell = m - 1,$ (III) $\ell = 0.$

Case (I). Let $\ell \in \{1, 2, \dots, m-2\}$. From (2.3) with ℓ and k replaced by $\ell + 1$ and m respectively, we have

(2.4)
$$-\Delta^{\ell+1}x(n) = \sum_{j=\ell+1}^{m-1} \frac{(s-n+j-\ell-2)^{(j-\ell-1)}}{(j-\ell-1)!} (-1)^{j-\ell} \Delta^j x(s) + (-1)^{m-\ell} \sum_{r=n}^{s-1} \frac{(r-n+m-\ell-2)^{(m-\ell-2)}}{(m-\ell-2)!} \Delta^m x(r).$$

Using (1.3) and equation (1.1) in (2.4), we obtain

(2.5)
$$-\Delta^{\ell+1}x(n) \ge \sum_{r=n}^{s-1} \frac{(r-n+m-\ell-2)^{(m-\ell-2)}}{(m-\ell-2)!} q(r) f(x[r-\tau]).$$

Letting $s \to \infty$ in (2.5), we get

(2.6)
$$-\Delta^{\ell+1}x(n) \ge \sum_{r=n}^{\infty} \frac{(r-n+m-\ell-2)^{(m-\ell-2)}}{(m-\ell-2)!} q(r) f(x[r-\tau]).$$

Next, from the equality

$$\sum_{j=i}^{m-1} \frac{(-1)^j}{(j-i)!} (n-m+j)^{(j-i)} \Delta^j x(n)$$

=
$$\sum_{j=i}^{m-1} \frac{(-1)^j}{(j-i)!} (n_1)^{(j-i)} \Delta^j x(n_1+m-j-1)$$

+
$$\frac{(-1)^{m-1}}{(m-i-1)!} \sum_{s=n_1}^{n-1} s^{(m-i-1)} \Delta^m x(s)$$

and condition (1.11), one can proceed as in [7] to obtain

(2.7)
$$x(n) \ge \frac{(n-m+\ell-1)^{(\ell-1)}}{\ell!} \Delta^{\ell-1} x(n), \quad n \ge n_1.$$

There exists an $n_2 \in \mathbb{N}(n_1 + \tau)$ such that

(2.8)
$$x[n-\tau] \ge \frac{(n-\tau-m+\ell-1)^{(\ell-1)}}{\ell!} \Delta^{\ell-1} x[n-\tau], \quad n \ge n_2.$$

Using condition (1.9) and inequality (2.7) in inequality (2.6), we have

(2.9)
$$-\Delta^{\ell+1}x(n) \ge \sum_{r=n}^{\infty} \frac{(r-n+m-\ell-2)^{(m-\ell-2)}}{(m-\ell-2)!}q(r) \\ f\left(\frac{(r-\tau-m+\ell-1)^{(\ell-1)}}{\ell!}\right)f\left(\Delta^{\ell-1}x[n-\tau]\right)$$

for $n \ge n_2$. Set $y(n) = \Delta^{\ell-1} x(n) > 0$ for $n \ge n_2$, and we see that $\{y(n)\}$ satisfies

$$\Delta^2 y(n) + Q_\ell(n) f(y[n-\tau]) \le 0.$$

Lemma 1.2 now implies that the equation

$$\Delta^2 y(n) + Q_\ell(n) f(y[n-\tau]) = 0$$

has an eventually positive solution. But this contradicts our assumption.

Case (II). Let $\ell = m - 1$. It follows from (2.8) that

(2.10)
$$x[n-\tau] \ge \frac{(n-\tau-2)^{(m-2)}}{(m-1)!} \Delta^{m-2} x[n-\tau] \text{ for } n \ge n_2.$$

Using condition (1.9) and (2.10) in equation (1.1), we have

$$\begin{aligned} -\Delta^m x(n) &= q(n) f(x[n-\tau]) \\ &\geq q(n) f\left(\frac{(n-\tau-2)^{(m-2)}}{(m-1)!}\right) f\left(\Delta^{m-2} x[n-\tau]\right) \\ &= Q_{m-1}(n) f\left(\Delta^{m-2} x[n-\tau]\right) \quad \text{for} \quad n \geq n_2. \end{aligned}$$

The rest of the proof is similar to that of Case (I) and hence omitted.

Case (III). Let $\ell = 0$. This is the case when m is odd. As in [7] one can easily see that condition (1.11) implies that $\lim_{n\to\infty} x(n) = 0$. Therefore, $\lim_{n\to\infty} \Delta^i x(n) = 0$ monotonically for $i = 0, 1, \dots, m-1$.

It follows from (2.3) with $\ell = 0$ and k = m - 1 that for $s \ge n \ge n_1$

$$x(n) \ge \sum_{r=n}^{s-1} \frac{(r-n+m-2)^{(m-2)}}{(m-2)!} \Delta^{m-1} x(r).$$

By the hypothesis there exists $\overline{n}_1 \ge n_1$ such that

(2.11)
$$x[n-\tau] \ge \left(\sum_{r=n-\tau}^{n-\overline{\tau}} \frac{(r-n+\tau+m-2)^{(m-2)}}{(m-2)!}\right) \Delta^{m-1} x[n-\overline{\tau}].$$

Using (1.9) and (2.11) in equation (1.1), we obtain

$$-\Delta^m x(n) = q(n) f(x[n-\tau])$$

$$\geq q(n) f\left(\sum_{r=n-\tau}^{n-\overline{\tau}} \frac{(r-n+\tau+m-2)^{(m-2)}}{(m-2)!}\right) f\left(\Delta^{m-1} x[n-\overline{\tau}]\right)$$

or

$$\Delta y(n) + Q_0(n)f(y[n-\overline{\tau}]) \le 0$$

where $y(n) = \Delta^{m-1}x(n) > 0$ for $n \ge \overline{n}_1$. Lemma 1.3 now implies that the equation

$$\Delta y(n) + Q_0(n)f(y[n-\overline{\tau}]) = 0$$

has an eventually positive solution. But this contradicts our assumption and completes the proofs of Theorems 2.1 and 2.2. $\hfill \Box$

Next, we present the following oscillation criteria for equation (1.1).

THEOREM 2.3. Let m be even, conditions (i) – (iii), (1.9) and (1.11) hold. If for some $n_1 \ge n_0$

(2.12; j)
$$\lim_{n \to \infty} \overline{Q}_j(n) = \infty, \quad j = 1, 3, \cdots, m-1$$

then equation (1.1) is oscillatory.

THEOREM 2.4. Let *m* be odd, conditions (i) - (iii), (1.9) and (1.11) hold. If for some $n_1 \ge n_0$ condition (2.12; *j*) holds with $j = 2, 4, \cdots, m-1$ then every solution $\{x(n)\}$ of equation (1.1) is either oscillatory, or $\lim_{n\to\infty} \Delta^i x(n) = 0$ monotonically for $i = 0, 1, \cdots, m-1$. In addition, if there exists a positive integer $\overline{\tau}$ with $\overline{\tau} < \tau$ such that either

(2.13)
$$\frac{f(x)}{x} \ge 1$$
 for $x \ne 0$ and $\liminf_{n \to \infty} \sum_{s=n-\overline{\tau}}^{n-1} Q_0(s) > \left(\frac{\overline{\tau}}{\overline{\tau}+1}\right)^{\overline{\tau}+1}$,

or

(2.14)
$$\int_{\pm 0} \frac{du}{f(u)} < \infty \quad and \quad \sum^{\infty} Q_0(s) = \infty,$$

then equation (1.1) is oscillatory.

PROOFS OF THEOREMS 2.3 AND 2.4. Assume that equation (1.1) has a nonoscillatory solution $\{x(n)\}$, say x(n) > 0 for $n \ge n_0 \ge 0$. By Lemma 1.1, x(n) satisfies (1.2) for some $\ell \in \{0, 1, 2, \dots, m-1\}$ with $\ell + m$ odd for $n \ge n_1 \ge n_0$.

Next, we shall consider the following two cases:

(I) $\ell \in \{1, 2, \cdots, m-1\},\$

(II) $\ell = 0.$

The proof of Case (II) is similar to that of Case (III) in Theorems 2.1 and 2.2 except that we apply known result in [8,9] to equation (2.2). Thus, we shall consider Case (I).

Case (I). Let $\ell \in \{1, 2, \dots, m-1\}$. From equality (2.3) with k = m and $n = n_1$ one can easily find for $s > n_1$,

(2.15)
$$\infty > \Delta^{\ell} x(n_1) \ge \sum_{r=n_1}^{s-1} \frac{(r-n_1+m-\ell-1)^{(m-\ell-1)}}{(m-\ell-1)!} q(r) f(x[r-\tau]).$$

As in the proof of Theorems 2.1 and 2.2, we obtain (2.7) for $n \ge n_2$. Since $\Delta^{\ell-1}x(n)$ is increasing for $n \ge n_1$, there exist $n_3 \ge n_1$ and a constant c > 0 such that

(2.16)
$$\Delta^{\ell-1}x[r-\tau] \ge c \quad \text{for} \quad r \ge n_3.$$

Using (1.9), (2.7) and (2.16) in (2.15), we have

$$\infty > \Delta^{\ell} x(n_1) \geq \sum_{r=n_1+\tau}^{s-1} \frac{(r-n_1+m-\ell-1)^{(m-\ell-1)}}{(m-\ell-1)!} q(r) f(c)$$
$$= \frac{f\left(\frac{(r-\tau-m+\ell-1)^{(\ell-1)}}{\ell!}\right)}{\overline{Q}_{\ell}(s) f(c) \to \infty \quad \text{as} \quad s \to \infty,$$

which contradicts condition (2.12). This completes the proof.

Now, we present the following comparison theorems.

THEOREM 2.5. Let m be even, conditions (i) - (iii), (1.9) and (1.11) hold. If for all sufficiently large n, all the first order delay difference equations

(2.17; j)
$$\Delta z(n) + Q_j^*(n)f(z[n-\tau]) = 0, \quad j = 1, 3, \cdots, m-1$$

are oscillatory, then equation (1.1) is oscillatory.

THEOREM 2.6. Let m be odd, conditions (i) – (iii), (1.9) and (1.11) hold. If there exists a positive integer $\overline{\tau}$ with $\overline{\tau} < \tau$ such that for all large n all the equations (2.17; j), $j = 2, 4, \dots, m-1$ and (2.2) are oscillatory, then equation (1.1) is oscillatory.

PROOF. Assume that equation (1.1) has a nonoscillatory solution $\{x(n)\}$, say, x(n) > 0 for $n \ge n_0 \ge 0$. As in the proof of Theorems 2.1 and 2.2, we consider two cases:

(I) $\ell \in \{1, 2, \cdots, m-1\},$ (II) $\ell = 0.$

The proof of Case (II) is similar to that of Case (III) of Theorems 2.1 and 2.2 and hence will be omitted. Thus, we consider Case (I).

Case (I). Let
$$\ell \in \{1, 2, \dots, m-1\}$$
. It follows from (2.3) that

(2.18)
$$\Delta^{\ell} x(n) \ge \sum_{r=n}^{\infty} \frac{(r-n+m-\ell-1)^{(m-\ell-1)}}{(m-\ell-1)!} q(r) f(x[r-\tau])$$

As in the proof of Theorems 2.1 and (2.2), we obtain (2.8). Using (1.9), (2.8) in (2.18), we have

$$\Delta^{\ell} x(n) \ge \sum_{r=n}^{\infty} \frac{(r-n+m-\ell-1)^{(m-\ell-1)}}{(m-\ell-1)!} q(r) \\ f\left(\frac{(r-\tau-m+\ell-1)^{(\ell-1)}}{\ell!}\right) f\left(\Delta^{\ell-1} x[n-\tau]\right),$$

or

 $\Delta y(n) + Q_{\ell}^*(n)f(y[n-\tau]) \le 0 \quad \text{for} \quad n \ge n_1 \ge n_0.$

Lemma 1.3 now implies that the equation

$$\Delta y(n) + Q_{\ell}^*(n)f(y[n-\tau]) = 0$$

has an eventually positive solution. But this contradicts our assumption and completes the proof. $\hfill \Box$

The following results are immediate.

COROLLARY 2.7. Let m be even, conditions (i) - (iii), (1.9) and (1.11) hold. Equation (1.1) is oscillatory if either one of the following conditions holds:

(e₁) $f(x)/x \ge 1$ for $x \ne 0$ and

(2.19; j)
$$\liminf_{n \to \infty} \sum_{s=n-\tau}^{n-1} Q_j^*(s) > \left(\frac{\tau}{\tau+1}\right)^{\tau+1}, \quad j = 1, 3, \cdots, m-1$$

or

(e₂) $\int_{\pm 0} du/f(u) < \infty$ and

(2.20; j)
$$\sum_{j=1,3,\cdots,m-1}^{\infty} Q_j^*(s) = \infty, \quad j = 1, 3, \cdots, m-1.$$

COROLLARY 2.8. Let m be odd, conditions (i) - (iii), (1.9) and (1.11) hold. Equation (1.1) is oscillatory if either one of the following conditions is satisfied:

(o₁) condition $(2.19; j), j = 2, 4, \dots, m-1$ and condition (2.13), or

(o₂) condition $(2.20; j), j = 2, 4, \dots, m-1$ and condition (2.14).

3. Oscillation of Equation (1.2)

In this section we shall study the oscillatory behavior of equation (1.2). If equation (1.2) has a nonoscillatory solution $\{x(n)\}$, say, x(n) > 0 for $n \ge n_0 \ge$ 0, then by Lemma 1.1 there exist an integer $n_1 \ge n_0$ and $\ell \in \{0, 1, \dots, m\}$ with $\ell + m$ even such that (1.3) holds for $n \ge n_1$. Next, we shall consider the inequalities

(3.1)
$$\Delta^m x(n) \ge q(n) f(x[n-\tau]) \quad \text{when} \quad \ell \in \{0, 1, \cdots, m-1\}$$

and

(3.2)
$$\Delta^m x(n) \ge p(n)F(x[n+\sigma]) \quad \text{when} \quad \ell = n$$

and obtain the following oscillation results for equation (1.2).

THEOREM 3.1. Let *m* be even, conditions (i) – (iii), (1.9) – (1.11) hold. If for all sufficiently large *n*, all the second order equations (2.1; *j*), *j* = 2,4,..., *m* - 2 are oscillatory and there exist positive integers $\overline{\tau}$ and $\overline{\sigma}$ with $\overline{\tau} < \tau$ and $\overline{\sigma} < \sigma$ such that the first order delay equation (2.2) and the first order advanced equation

(3.3)
$$\Delta y(n) + Q_m(n)F(y[n+\overline{\sigma}]) = 0$$

are oscillatory, then equation (1.2) is oscillatory.

THEOREM 3.2. Let *m* be odd, conditions (i) – (iii), (1.9) – (1.11) hold. If for all sufficiently large *n*, all the second order equations $(2.1; j), j = 1, 3, \dots, m-2$ are oscillatory and there exists a positive integer $\overline{\sigma}$ with $\overline{\sigma} < \sigma$ such that equation (3.3) is oscillatory, then equation (1.2) is oscillatory. PROOFS OF THEOREMS 3.1 AND 3.2. Assume that equation (1.2) has a nonoscillatory solution $\{x(n)\}$, say, x(n) > 0 for $n \ge n_0 \ge 0$. By Lemma 1.1, x(n) satisfies (1.3) for some $\ell \in \{0, 1, \dots, m\}$ with $\ell + m$ even for $n \ge n_1$ for some $n_1 \ge n_0$. Now, we distinguish the following four cases:

(I) $\ell \in \{1, 2, \cdots, m-2\},$ (II) $\ell = m - 1,$ (III) $\ell = 0,$ (IV) $\ell = m.$

The proofs of the Cases (I), (II) and (III) are exactly the same as in Section 2 and hence omitted. It remains to consider the Case (IV).

Case (IV). Let $\ell = m$. From (2.3), one can easily see that

$$x(n) = x(s) + \sum_{j=1}^{m-1} \frac{(n-s)^{(j)}}{j!} \Delta^j x(s) + \sum_{r=s}^{n-m} \frac{(n-r-1)^{(m-1)}}{(m-1)!} \Delta^m x(r)$$

and hence

$$x(n) \ge \frac{(n-s)^{(m-1)}}{(m-1)!} \Delta^{m-1} x(s) \text{ for } n \ge s \ge n_1.$$

There exists an $n_2 \ge n_1$ such that

(3.4)
$$x[n+\sigma] \ge \frac{(\sigma-\overline{\sigma})^{(m-1)}}{(m-1)!} \Delta^{m-1} x[n+\overline{\sigma}] \quad \text{for} \quad n \ge n_2.$$

Using (1.10) and (3.4) in inequality (3.2), we have

$$\Delta^m x(n) \ge q(n)F(x[n+\sigma]) \ge q(n)F\left(\frac{(\sigma-\overline{\sigma})^{(m-1)}}{(m-1)!}\right)F\left(\Delta^{m-1}x[n+\overline{\sigma}]\right),$$

or

$$\Delta v(n) \ge Q_m(n)F(v[n+\overline{\sigma}]) \quad \text{for} \quad n \ge n_2,$$

where $v(n) = \Delta^{m-1}x(n), n \ge n_2$. Lemma 1.3 now implies that the equation

$$\Delta v(n) - Q_m(n)F(v[n+\overline{\sigma}]) = 0$$

has an eventually positive solution. But this contradicts our assumption and completes the proof. $\hfill \Box$

Next, we have the following immediate results.

THEOREM 3.3. Let m be even, conditions (i) – (iii), and (1.9) – (1.11) hold. If for some $n_1 \ge n_0, \overline{\tau} > 0$ with $\overline{\tau} < \tau$ and some $\overline{\sigma} > 0$ with $\overline{\sigma} < \sigma$, condition (2.12; j), $j = 2, 4, \cdots, m-2$, condition (2.13) (or (2.14)) and either

(3.5)
$$\frac{F(x)}{x} \ge 1$$
 for $x \ne 0$ and $\liminf_{n \to \infty} \sum_{j=n}^{n+\overline{\sigma}-1} Q_m(j) > \left(\frac{\overline{\sigma}-1}{\overline{\sigma}}\right)^{\overline{\sigma}}$,

or

(3.6)
$$\int^{\pm\infty} \frac{du}{F(u)} < \infty$$

then equation (1.2) is oscillatory.

THEOREM 3.4. Let m be odd, conditions (i) – (iii), and (1.9) – (1.11) hold. If for some $n_1 \ge n_0$ and some $\overline{\sigma} > 0$ with $\overline{\sigma} < \sigma$, condition (2.12; j), $j = 1, 3, \dots, m-2$ and condition (3.5) (or (3.6)) hold, then equation (1.2) is oscillatory.

Here, we note that condition (1.11) implies that

(3.7)
$$\sum_{j=1}^{\infty} q(j) = \infty,$$

which is required to ensure oscillation of the advanced superlinear equation (3.3) and hence omitted.

When $F \equiv 0$, i.e., equation (1.2) is reduced to the equation

(3.8)
$$\Delta^m x(n) = q(n)f(x[n-\tau]),$$

one can easily obtain the following oscillatory and asymptotic behavior results.

THEOREM 3.5. Let *m* be even, conditions (i) – (iii), (1.9) and (1.11) hold. If for some $\overline{\tau} > 0$ with $\overline{\tau} < \tau$ and all large *n*, all equations (2.17; *j*), *j* = 2,4,..., m-2 and (2.2) are oscillatory, then every solution $\{x(n)\}$ of equation (3.8) is either oscillatory or $|\Delta^i x(n)| \to \infty$ monotonically as $n \to \infty, i = 0, 1, \dots, m-1$.

THEOREM 3.6. Let *m* be odd, conditions (i) - (iii), (1.9) and (1.11)hold. If for all large *n*, all the equations $(2.17; j), j = 1, 3, \dots, m-2$ are oscillatory, then every solution $\{x(n)\}$ of equation (3.8) is either oscillatory, or $|\Delta^i x(n)| \to \infty$ monotonically as $n \to \infty, i = 0, 1, \dots, m-1$.

As an illustrative example, we consider the mixed type of difference equation

(3.9) $\Delta^m x(n) = q |x[n-2m]|^{\alpha} \operatorname{sgn} x[n-2m] + p |x[n+2m]|^{\beta} \operatorname{sgn} x[n+2m],$

where $m \ge 2, p, q, \alpha$ and β are positive constants with $0 < \alpha \le 1$ and $\beta \ge 1$. Here, we take $\tau = 2m, \sigma = 2m$ and hence choose $\overline{\tau} = m, \overline{\sigma} = m$. Now, for appropriate choices of the constants involved, one can easily see that equation (3.9) is oscillatory by Theorems 3.3 and 3.4.

We note that none of the known results which have appeared in the literature can be applied to describe the oscillatory behavior of equation (3.9).

Finally, we see that the results of this paper can be extended to more general equations of the form

(3.10)
$$\Delta^m x(n) + q(n)f(x[g(n)]) = 0,$$

R.P. AGARWAL, S.R. GRACE AND D. O'REGAN

(3.11)
$$\Delta^m x(n) = q(n)f(x[g(n)]) + p(n)F(x[h(n)])$$

where p(n), q(n), f and F are as in equations (1.1) and (1.2), $g, h \in G = \{g, h : \mathbb{N}(n_0) \to \mathbb{N} \text{ for some } n_0 \in \mathbb{N} : \lim_{n \to \infty} g(n) = \infty \text{ and } \lim_{n \to \infty} h(n) = \infty \},$ $\{g(n)\}$ and $\{h(n)\}$ are nondecreasing sequences, $g(n) \leq n$ and $h(n) \geq n$.

Also, we can extend our results to equations of the form

(3.12)
$$\Delta \left(\Delta^{m-1} x(n)\right)^{\alpha} + q(n) f(x[g(n)]) = 0$$

and

(3.13)
$$\Delta \left(\Delta^{m-1} x(n)\right)^{\alpha} = q(n)f(x[g(n)]) + p(n)F(x[h(n)]),$$

where α is the ratio of positive odd integers, p(n), q(n), g(n), h(n), f and F are as in equations (3.10) and (3.11).

The statements and formulation of results are left to the reader.

References

- R.P. Agarwal, Difference Equations and Inequalities: Second Edition, Revised and Expanded, Marcel Dekker, New York, 2000.
- [2] R.P. Agarwal, S.R. Grace and D. O'Regan, Oscillation Theory for Difference and Functional Differential Equations, Kluwer, Dordrecht, 2000.
- [3] R.P. Agarwal, S.R. Grace and D. O'Regan, Oscillation Theory for Second Order Dynamic Equations, Taylor & Francis, U.K., 2003.
- [4] R.P. Agarwal and S.R. Grace, Oscillation of certain difference equations, Math. Comput. Modelling 29 (1999), 1–8.
- [5] R.P. Agarwal and S.R. Grace, *The oscillation of certain difference equations*, Math. Comput. Modelling **30** (1999), 53–66.
- [6] R.P. Agarwal and P.J.Y. Wong, Advanced Topics in Difference Equations, Kluwer, Dordrecht, 1997.
- [7] G. Grzegorczyk and J. Werbowski, Oscillation of higher order linear difference equations, Comput. Math. Applic. 42 (2001), 711–717.
- [8] I. Györi and G. Ladas, Oscillation Theory of Delay Differential Equations with Applications, Oxford Univ. Press, Oxford, 1991.
- [9] Ch.G. Philos, On oscillation of some difference equations, Funkcial. Ekvac. 34 (1991), 157–172.
- [10] P.J.Y. Wong and R.P. Agarwal, Comparison theorems for the oscillation of higher order difference equations with deviating arguments, Math. Comput. Modelling 24 (1996), 39–48.
- [11] A. Wyrwinska, Oscillation criteria of a higher order linear difference equation, Bull. Inst. Math. Acad. Sinica 22 (1994), 259–266.

R.P. Agarwal Department of Mathematical Sciences Florida Institute of Technology Melbourne, FL 32901 U.S.A. *E-mail*: agarwal@fit.edu

S.R. Grace Department of Engineering Mathematics Faculty of Engineering Cairo University Orman, Giza 12221 Egypt *E-mail*: srgrace@eng.cu.edu.eg

D. O'Regan Department of Mathematics National University of Ireland Galway Ireland *E-mail*: donal.oregan@nuigalway.ie *Received*: 29.10.2003.